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Name: __________________________________



1
Which graph represents the solution set of [image: image1.png]Sx+6<0



?

	1)
	[image: image2.png]12 3 4





	2)
	[image: image3.png]12 3 4





	3)
	[image: image4.png]12 3 4





	4)
	[image: image5.png]12 3 4







2
Which graph represents the solution set of [image: image6.png]x4+ 5x-6>0



?

	1)
	[image: image7.png]—-6-5-4-3-2-1012 3456





	2)
	[image: image8.png]—-6-5-4-3-2-1012 345 g





	3)
	[image: image9.png]—-6-54-3-2-1 012 345€6





	4)
	[image: image10.png]-£-54-3-2-1 012 3456







3
Which graph represents the inequality [image: image11.png]—5x—6<0



?

	1)
	[image: image12.png]-3-2-1 01 2 3456





	2)
	[image: image13.png]-3-2-1 012 3456





	3)
	[image: image14.png]321 012 3456





	4)
	[image: image15.png]-3-2-1 012 3456







4
Which graph represents the solution set of the inequality [image: image16.png]_4x-5¢<0



?

	1)
	[image: image17.png]5 4359012 3465





	2)
	[image: image18.png]543210122346





	3)
	[image: image19.png]54359012345





	4)
	[image: image20.png]IR S A A S







5
Which graph represents the solution of the inequality [image: image21.png]


?

	1)
	[image: image22.png]




	2)
	[image: image23.png]




	3)
	[image: image24.png]




	4)
	[image: image25.png]e 4 55 10 1 2 3 a4







6
Which graph represents the solution of the inequality [image: image26.png]x4+ d4x-21 <0



?

	1)
	[image: image27.png]7654321012 3





	2)
	[image: image28.png]7-6-5-4-3-2-1012 3





	3)
	[image: image29.png]>
-7-6-56-4-3-2-1012 3





	4)
	[image: image30.png]-7 -6-5-4-3-2-1012 3







7
What is the solution set for the inequality [image: image31.png]_2x-3%0



?

	1)
	[image: image32.png]-3-2-1 01 2 3





	2)
	[image: image33.png]-3-2-1 01 2 3





	3)
	[image: image34.png]-3-2-1 01 2 3





	4)
	[image: image35.png]-3-2-1 01 2 3







8
Which graph represents the solution set for the inequality [image: image36.png]—x-20<0



?

	1)
	[image: image37.png]0123485





	2)
	[image: image38.png]54321012 3465





	3)
	[image: image39.png]012345





	4)
	[image: image40.png]012345







9
Which graph represents the solution set of [image: image41.png]—x-12 <0



?

	1)
	[image: image42.png]43210123 4





	2)
	[image: image43.png]43210123 4





	3)
	[image: image44.png]rREERET]





	4)
	[image: image45.png]4351012 44







10
Which graph represents the solution set for [image: image46.png]x> 12



?

	1)
	[image: image47.png]6543210123456





	2)
	[image: image48.png]6543210123456





	3)
	[image: image49.png]6543210123456





	4)
	[image: image50.png]8543210123456







11
What is the solution set for [image: image51.png](x+3Dx-2)>0



?

	1)
	[image: image52.png]




	2)
	[image: image53.png]>
-5-4-32-| 01 2345





	3)
	[image: image54.png]5-4-3-2- 0| 2345





	4)
	[image: image55.png]-5-4-3-2-1 0] 2345







12
Which is the graph of the solution set of the inequality [image: image56.png](x—=T(x+5 =0



?

	1)
	[image: image57.png]




	2)
	[image: image58.png]10





	3)
	[image: image59.png]10





	4)
	[image: image60.png]






13
Which graph represents the solution set of [image: image61.png]


?

	1)
	[image: image62.png]




	2)
	[image: image63.png]




	3)
	[image: image64.png]




	4)
	[image: image65.png]






14
Which graph represents the inequality [image: image66.png]450



?

	1)
	[image: image67.png]-2

~1





	2)
	[image: image68.png]




	3)
	[image: image69.png]




	4)
	[image: image70.png]






15
The graph below represents the solution set of which inequality?

[image: image71.png]54321012345




	1)
	[image: image72.png]—2x-8<0





	2)
	[image: image73.png]x4+ 2x-8 <0





	3)
	[image: image74.png]—2x-8>0





	4)
	[image: image75.png]x4+ 2x-850







16
Which inequality is represented by the graph below?

[image: image76.png]B s s s s e s
543510123456




	1)
	[image: image77.png]—2x—15%10





	2)
	[image: image78.png]—2x—15<0





	3)
	[image: image79.png]_ax-15<0





	4)
	[image: image80.png]x4+ 2x-15 <0







1
ANS:
1
REF:
089526siii

2
ANS:
2
REF:
069826siii

3
ANS:
1
REF:
069918siii

4
ANS:
1

	[image: image81.png]x*-4x-5<0
(x-5)(x+D<0





For the product of these binomials to be negative, either:

1.
[image: image82.png](x-5)



 must be negative AND [image: image83.png](x+1)



 must be positive; or
2.
[image: image84.png](x-5)



 must be positive AND [image: image85.png](x+1)



 must be negative
	CASE 1

[image: image86.png]=540
x<5



   AND   [image: image87.png]x+1>0
x>-1




CASE 2

[image: image88.png]x=5>0
x>5



   AND   [image: image89.png]x+1<0
x<-1




The answer is the first case, [image: image90.png]-1< x< 5.



  The second case is not possible, as x cannot be both greater than 5 and less than -1.


REF:
010509b

5
ANS:
1
REF:
080326siii

6
ANS:
1
REF:
069630siii

7
ANS:
1
REF:
089926siii

8
ANS:
1
REF:
060021siii

9
ANS:
2

	[image: image91.png]-x-12<0
(x=4)(x+3<0




For the product of these binomials to be negative, either:

1.
[image: image92.png](x-4)



 must be negative AND [image: image93.png](x+3)



 must be positive; or
2.
[image: image94.png](x-4)



 must be positive AND [image: image95.png](x+3)



 must be negative
	CASE 1

[image: image96.png]x=4<0
x<4



   AND   [image: image97.png]x+3>0
x>-3




CASE 2

[image: image98.png]=450
x>4



   AND   [image: image99.png]x+3<0
x< -3




The answer is the first case, [image: image100.png]-3<x<4.



  The second case is not possible, as x cannot be both greater than 4 and less than -3.


REF:
010318b

10
ANS:
1
REF:
080125siii

11
ANS:
4
REF:
068531siii

12
ANS:
2
REF:
089418siii

13
ANS:
4
REF:
019422siii

14
ANS:
3
REF:
089631siii

15
ANS:
2
REF:
010335siii

16
ANS:
2
REF:
060332siii


